ecl-trans-reachable!!40

ecl-trans-reachable(ds;da;v; L;x)
=q4et let T,ks,i,g,h,a,e = v in
3L :event-info(ds;da) List
(' <L
A ((IE]F < IILIf)
&z

list_accum(z,a.let k,2z = a

in
let s, = 2z
in
if deq-member(KindDeq;k;ks) then g(k,s,v,x) else = fi ;
1
L))

clarification:

ecl-trans-reachable(ds;da;v; L;x)
=qet let T,ks,i,g,h,a,e = v in
3L :event-info(ds;da) List
(L' < L € event-info(ds;da) List
A ((IEF < L)
& x
list_accum(z,a.let k,2z = a
in
let s,v = 2z
in
if deq-member(KindDeq;k;ks) then g(k,s,v,x) else = fi ;

L)
eT))
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